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1. (10 points) (a) Draw the graph of f(z) = x — [z], where [z] is the greatest integer
function.
(b) What is the domain of f(z)?
(c) What is the range of f(x)?
(d) At which points is f discontinuous?

2. (10 points) Evaluate the following limits.
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3. (10 points) (a) Use the Squeeze Theorem to prove that

lim|f(z)]=0 = lim f(z)=0
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(b) Evaluate the limit

lim cos(l) sin x
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10 points) Let f(x) be the function whose graph is shown in the following figure.
a) Determine f'(a) for a =1, 2, 4, 7.

b) Which is larger: f/(5.5) or f'(6.5)?

¢) Show that f’(3) does not exist.
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5. (10 points) The definition of
lim f(z) =L
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is that Ve > 0, 96 > 0 such that
O<|r—c|<d = |f(x)—L|<e
(a) Write down the definition for

lim f(z) # L
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(b) Prove rigorously that
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